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Deriving the matrices for 1D:
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Boundary terms:
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- For time marching schemes (space DG) we only need ,
the solution on the vertical line.
- If we have source term, we need to compute its
contribution to the star value for the finite time t = tn- — —
+Delta t /2 1:y\ 6 é:,
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Sample Riemann solution (this problem): 9 |
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By choosing v and sigma as primary variables, we know
that they are continuous across the vertical interface for
general boundary (as opposites to g = grad u and p =rho
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Riemann solution: has two parts:
1. Weighted average of the quantity -> average for the same material case.

2. Jump of other field(s) -> results in energy dissipation in numerical setting

General expression of the * solutions for this LINEAR PDE:
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Let's now simplify the element boundary terms
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